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Potencial eletrostático
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Potencial eletrostático
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Potencial eletrostático

<latexit sha1_base64="PqfLyE0t3mWuM+Z77YbZwu1tJTY="></latexit>
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Potencial eletrostático
<latexit sha1_base64="PqfLyE0t3mWuM+Z77YbZwu1tJTY="></latexit>
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Potencial eletrostático
<latexit sha1_base64="PqfLyE0t3mWuM+Z77YbZwu1tJTY="></latexit>
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Escolha do ponto  𝒪

<latexit sha1_base64="4PNxVAzGg41iJR3YoJhgZ3+b5HM="></latexit>
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Potencial eletrostático
<latexit sha1_base64="PqfLyE0t3mWuM+Z77YbZwu1tJTY="></latexit>
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Escolha do ponto  𝒪
• Via de regra, 𝒪 ≡ ∞

<latexit sha1_base64="4PNxVAzGg41iJR3YoJhgZ3+b5HM="></latexit>
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Potencial eletrostático
<latexit sha1_base64="PqfLyE0t3mWuM+Z77YbZwu1tJTY="></latexit>
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Escolha do ponto  𝒪
• Via de regra,  
• Exceção 

• Cargas que vão até 
  escolher     

conveniente

𝒪 ≡ ∞

∞ ⇒ 𝒪
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Potencial de carga pontual

Escolha do ponto  𝒪
• Via de regra,  
• Exceção 

• Cargas que vão até 
  escolher     

conveniente

𝒪 ≡ ∞

∞ ⇒ 𝒪
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Potencial de carga pontual
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Potencial de carga pontual
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Potencial de carga pontual
<latexit sha1_base64="4PNxVAzGg41iJR3YoJhgZ3+b5HM="></latexit>
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Potencial de carga pontual
<latexit sha1_base64="4PNxVAzGg41iJR3YoJhgZ3+b5HM="></latexit>
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𝒪 → ∞
<latexit sha1_base64="2fQV9fo5sg05kYzjgeXIweIxW0k="></latexit>
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Potencial de carga pontual
<latexit sha1_base64="L9ayNZaAHOxhGcNgpBwOuxWb2Z8="></latexit>
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Potencial de carga pontual
<latexit sha1_base64="L9ayNZaAHOxhGcNgpBwOuxWb2Z8="></latexit>
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Potencial de carga pontual
<latexit sha1_base64="L9ayNZaAHOxhGcNgpBwOuxWb2Z8="></latexit>
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Potencial de carga pontual
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Potencial de distribuição de cargas
<latexit sha1_base64="L9ayNZaAHOxhGcNgpBwOuxWb2Z8="></latexit>
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Potencial de distribuição de cargas
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